Montazni navod

(Montéazny navod, Fitting instruction, Montageanleitumg,

Instruzioni di montaggio, Monteringshandledning,
Asennusohje, Instruction de montage,
Montegehandleiding, WHcTpyKuua no yctaHoBKe)

":

®
ol

Tazné zarizeni
Ford Mondeo 10/2000->05/2007

Tazné zariadenie
Towbars
Trekhaak

Anhangerkupplung de
Dispositif d'attelage
Equipo de remolque

Sprzet holowniczy

Hinauslaitteet
BykcupHoe obopynoBaHue

vyrobce / dodavatel

SVC Group s.r.o.

[=] 3

Odkaz na produkt:
https://www.svcgroup.cz/tazne-zarizeni-sro
uby-pevny-skoda-rapid-monte-carlo-10-20
12-2018-p7283-v960

WWW.SVCgroup.cz



G /| 2TV POYdeN JAS

ORIGINAY

‘Pj_\\\i\ ZARizg )

Montazni navod

Fitting instruction
Anbauanweisung

00 - 0076

Classe A50-X

%

Palah

oF
gt

EC 94/20

Ford Mondeo
H 10/2000->

Typ: VTZ 001-157
VTZ 002-157

o
|

1800 kg| 1800 kg
Hodnota ﬁ ',
value
Wert

8,83kn

75 kg

AN

2x M10x120)

Predepsané utahovaci momenty:
Specified torque settings :

ﬁ R 18x2 L=80 - 4ks
By M5 59Nm  6,5Nm
e mé 10.0Nm  10,5Nm

M10 49,0 Nm 51,0 Nm

M12 85,0 Nm 87,0 Nm

" M14 135,00 Nm 138,0 Nm
Cep:VT 20

el: ZV 170

M16  210,0 Nm 214.1 Nm

Montazni navod

1. Odmontujeme zadni naraznik u vozidla, odvésime zadni dil vyfuku z gumo-
vych pfFichytl a demontujeme tepelny §tit tlumice vyfuku.
Z mist pro uchyceni tazného zafizeni oCistime pfipadné necistoty a z otvort
odstranime mékkou hmotu nastfiku podvozku.

2Z venkovni strany nosniku vsuneme do otvort Srouby M10x120 spole¢né
s plochou podloZkou adistan¢nimi trubkami 18x2 L= 80. Dbame na to, aby
po vsunuti Srouby zajeli do Sikmych ovalu. Z druhé strany nosniku nasadime
pravy + levy bok tazného zafizeni a zajistime je korunkovymi matkami,
pres velkoploSné podlozky. ( Nedotahujeme!!!)

3.Na takto pfipravené vozidlo nasadime od zadu, na zadni €elo hlavni nosnik
tazného zafizeni a pfichytime jej 4 Srouby M10x40 s velkoploSnymi podlo-
Zkami. Ze strany pfilozky pfijde velkoploSna podlozka jen na spodni Sroub.
VSe vyrovname a poté fadné dotahneme dle utahovacich momenta.

4 Vratime zpét tepelny §tit vyfuku a do narazniku zhotovime vyfez, dle obrazku.
Poté vratime naraznik zpét na vozidlo.

Vseobecné pokyny, téz viz. typovy list :

1. V uchytech a spojich tazného zafizeni s karosérii musi byt karosérie ocisSténa od
mékkych antikoroznich ochran nastfiku karosérie. VSechny vrtané otvory ocistéte
od Spon a oSetfete antikoroznim pfipravkem.

2. Pouzivejte dodany pevnostni spojovaci material.

3 Kulovy €ep nesmi ze zdkona prekryvat registracni zna¢ku vozu, pokud neni pfipojen
privésny vozik.

4. Zapojeni el. instalace tazného zafizeni k vozu musi odpovidat pfisluSnym platnym
normam a pozadavkim vyrobce vozu (viz. pfirucka k vozu, i u prodejce vozu).

Tazné zafizeni je pevnostné zkouseno a homologovano dle predpisu EC 94/20 a splfiuje

tuto.normu ES.

Typ:VTZ 001-157 A : e
viz 002.157 | SYC NACHOD - Pod Smrkem 2031 547 01 Nachod CR

INFO: www.svcnachod.cz
E-mail:svc@svcnachod.cz

Tel.:+420 491421021
mob.: +420 603360607 o:ocrens @




G / €V POYdEN IOAS

Fitting instructions:

1.Dismantle a back bumper from a car, unhinge the back part of an exhaust pipe from
rubber hitches and dismantle the heat shield of an exhaust muffler. Clean the dirt
from places for attaching of a coupling device and remove soft undercoating material
of the bottom of a car from the holes.

2.From the outer side of a beam put M10x120 bolts together with a flat lash and

L= 80x18x2 distance tubes into the holes. Be sure that bolts, after putting in, go into
oblique ovals. Put on the left and right sides of a coupling device from the other side
and secure them by crown nuts through large area washers. (Do not tighten yet).

3.0n such a prepared car put the main beam of a coupling device-on the back side
from the back and attach it by four M10x40'bolts with large area washers. On the
side where the lash is a large area washer goes only on the bottom bolt. Align
everything and tighten everything according to torque moments.

4.Put back the heat shield of an exhaust pipe and make a slot to a bumper according

to a figure. Then put the bumper back on a car.

General instructions, also see Type certificate:

1.Clean a car body from soft anticorrosive protection of a car body coat in brackets
and joints of a coupling device with a car body. Clean all drilled holes from metal
shavings and treat them with antirust agent.

2.Use supplied strength joining material.

3.A ball pin, according to a law, cannot cover a number plate, if a trailer is not joined.

4. Wiring of a coupling device must be up to a standard and carmaker requirements.
(see a car manual or ask a car seller).

5.The coupling device has been physically tested and homologated according

to the regulation EC 94/20 and is up to the EC standard.

Typ:VTZ 001-157 A : e
viz 002.157 | SYC NACHOD - Pod Smrkem 2031 547 01 Nachod CR

INFO: www.svcnachod.cz

E-mail:svc@svcnachod.cz

Tel.:+420 491421021
mob.: +420 603360607

8/03 SVC Nachod

(<]



Nevite si rady? Potfebujete poradit?

Nas zakaznicky servis
je vam k dispozici

%, +420491 421021

g Svc@svcgroup.cz

Opravdovy specialista a Certifikovany vyrobce taznych zafizeni
s nejvétsim sortimentem v CR. Rodinna firma s vice jak 30letou
ovérenou tradici vyroby, prodeje a montaze.

WWW.SVCgroup.cz



